

REPRESENTATION OF FRESNEL FUNCTIONS IN CONTINUED FRACTIONS

S. AHALLAL, A. KACHA, AND S. MENNOU

ABSTRACT. The goal of this paper is to provide an efficient method for computing the Fresnel functions by using the continued fractions with matrix arguments. We notice that the computation of these functions imposes many difficulties. Furthermore, we give some numerical examples which illustrated the theoretical results

2010 MATHEMATICS SUBJECT CLASSIFICATION. 11T23, 20G40, 94B05.

KEYWORDS AND PHRASES. Matrix continued fraction, Fresnel cosine integral function, Fresnel sine integral function.

1. INTRODUCTION AND MOTIVATION

Over the last two centuries, the theory of continued fractions has been a topic of extensive study. The basic idea of this theory over real numbers is to give an approximation of various real numbers by the rational ones. One of the main reasons why continued fractions are so useful in computation is that, in the convergence case, their expansions have the advantage that they converge more rapidly than other numerical algorithms [2, 6, 8]. So the extension of continued fractions theory from real numbers to the matrix and operator case has seen several development and interesting applications [3, 5, 11, 12].

The Fresnel integrals are fundamental in the theory of physics, they were originally used in the calculation of the electromagnetic field intensity in an environment where light bends around opaque objects. More recently, they have been used in the design of highways and railways, specifically their curvature transition zones, see track transition curve, [11].

In addition to generating the miraculous Cornu Spiral, the Fresnel integral can be used to solve the diffraction pattern of a light source through a close aperture. This is a consequence of the fact that circle waves are of the form of the light intensity, [1].

The Fresnel cosine and sine integral functions are defined by, (see [2])

$$C(z) = \int_0^z \cos\left(\frac{\pi}{2}t\right)^2 dt, \quad z \in \mathbb{C},$$

$$S(z) = \int_0^z \sin\left(\frac{\pi}{2}t\right)^2 dt, \quad z \in \mathbb{C}.$$

We have the symmetry properties

$$C(-z) = C(z), \quad S(-z) = -S(z),$$

$$\lim_{x \rightarrow +\infty} C(x) = \lim_{x \rightarrow +\infty} S(x) = 1/2.$$

These functions $C(z)$ and $S(z)$ are related to the error function by

$$C(z) + iS(z) = \frac{1+i}{2} \operatorname{erf}\left(\frac{\pi}{2}(1-i)z\right), C(z) - iS(z) = \frac{1+i}{2} \operatorname{erf}\left(\frac{\pi}{2}(1+i)z\right).$$

The series expansions of $C(x)$ and $S(x)$ are given by, (see [2])

$$C(x) = \sum_{k=0}^{+\infty} \frac{(-1)^k (\pi/2)^{2k}}{(2k)!(4k+1)} x^{4k+1}, \quad x \in \mathbb{R}$$

and

$$S(x) = \sum_{k=0}^{+\infty} \frac{(-1)^k (\pi/2)^{2k+1}}{(2k+1)!(4k+3)} x^{4k+3}, \quad x \in \mathbb{R}.$$

In this paper, we give the Fresnel integral functions representation as a sum of continued fractions in the real case and the matrix case.

2. DEFINITIONS AND NOTATIONS

Throughout this paper, $\mathcal{M}_m(\mathbb{R})$ will represent algebra of real matrices of sizes $m \times m$. Throughout this paper, we denote \mathcal{M}_m instead of $\mathcal{M}_m(\mathbb{R})$.

For any matrices $A, B \in \mathcal{M}_m$ with B invertible, we write $A/B := B^{-1}A$, in particular, if $A = I$, the identity matrix, then $I/B = B^{-1}$. It is easy to verify that for any invertible matrix X we have,

$$\frac{A}{B} = \frac{XA}{XB}.$$

Now, we introduce some topological notions of continued fractions with matrix arguments.

We provide \mathcal{M}_m with the standard induced norm.

$$\forall A \in \mathcal{M}_m, \|A\| = \operatorname{Sup}_{x \neq 0} \frac{\|Ax\|}{\|x\|} = \operatorname{Sup}_{\|x\|=1} \|Ax\|.$$

Let (A_n) be a sequence of matrices in \mathcal{M}_m , we say that (A_n) converges in \mathcal{M}_m if there exists a matrix $A \in \mathcal{M}_m$ such that $\|A_n - A\|$ tends to 0 when n tends to $+\infty$. In this case we write, $\lim_{n \rightarrow +\infty} A_n = A$.

Definition 2.1. Let $(A_n)_{n \geq 0}$ and $(B_n)_{n \geq 1}$ be two sequences of matrices in \mathcal{M}_m . We denote the continued fraction expansion by

$$A_0 + \frac{B_1}{A_1 + \frac{B_2}{A_2 + \dots}} := \left[A_0; \frac{B_1}{A_1}, \frac{B_2}{A_2}, \dots \right].$$

Sometimes, we denote this continued fraction by $\left[A_0; \frac{B_n}{A_n} \right]_{n=1}^{+\infty}$ or $K(B_n/A_n)$,

where

$$\left[A_0; \frac{B_i}{A_i} \right]_{i=1}^n = \left[A_0; \frac{B_1}{A_1}, \frac{B_2}{A_2}, \dots, \frac{B_n}{A_n} \right].$$

The fractions $\frac{P_n}{Q_n} = \left[A_0; \frac{B_i}{A_i} \right]_{i=1}^n$ is called the the n^{th} convergent of the continued fraction $K(B_n/A_n)$.

The continued fraction $\left[A_0; \frac{B_k}{A_k} \right]_{k=1}^{+\infty}$ is said to be convergent in \mathcal{M}_m if the sequence $(P_n/Q_n)_n = (Q_n^{-1}P_n)_n$ converges in \mathcal{M}_m in the sense that there exists a matrix $F \in \mathcal{M}_m$ such that $\lim_{n \rightarrow +\infty} \|F_n - F\| = 0$. In this case, we denote

$$F = \left[A_0; \frac{B_n}{A_n} \right]_{n=1}^{+\infty}.$$

We note that the evaluation of the n^{th} convergent according to Definition ?? is not practical because we have to repeatedly invert matrices. The following proposition gives an adequate method to calculate $K(B_n/A_n)$.

Proposition 2.2. For the continued fraction $K(B_n/A_n)$, define

$$\begin{cases} P_{-1} = I, P_0 = A_0 \\ Q_{-1} = 0, Q_0 = I \end{cases} \quad \text{and} \quad \begin{cases} P_n = A_n P_{n-1} + B_n P_{n-2} \\ Q_n = A_n Q_{n-1} + B_n Q_{n-2} \end{cases} \quad n \geq 1.$$

Then the matrix P_n/Q_n is the n^{th} convergent of $K(B_n/A_n)$.

Proof. This can be done by induction. □

Theorem 2.3. [11]. Let $(A_n), (B_n)$ be two sequences of \mathcal{M}_m . If

$$\| (B_{2k-2} \dots B_2)^{-1} A_{2k-1}^{-1} B_{2k-1} \dots B_1 \| \leq \alpha$$

and

$$\| (B_{2k-1} \dots B_1)^{-1} A_{2k}^{-1} B_{2k} \dots B_2 \| \leq \beta$$

for all $k \geq 1$, where $0 < \alpha < 1, 0 < \beta < 1$ and $\alpha\beta \leq 1/4$, then the continued fraction $K(B_n/A_n)$ converges in \mathcal{M}_m .

To end this section, We need to present the following Propositions.

Proposition 2.4. [8]. Let $C \in \mathcal{M}_m$ such that $\|C\| < 1$, then the matrix $I - C$ is invertible and we have

$$\| (I - C)^{-1} \| \leq \frac{1}{1 - \|C\|}.$$

Proposition 2.5. [2]. If the function $f(x)$ can be expanded in a power series in the interval $|x - x_0| < r$, as

$$f(x) = \sum_{p=0}^{+\infty} \alpha_p (x - x_0)^p,$$

then this expansion remains valid when the scalar argument x is replaced by a matrix A whose characteristic value belong to the interval of convergence.

3. MAIN RESULTS

3.1. Continued fractions expansions of Fresnel integral functions.

This section is devoted to give representations of the Fresnel integral functions as a sum of continued fractions in real and matrix cases.

3.1.1. Real case.

Theorem 3.1. (i) Let x be a real number, a representation of Fresnel cosine integral function as a sum of continued fractions is

$$C(x) = \left[x; \frac{-(\pi/2)^2 x^5}{10}, \frac{(\pi/2)^2 A_{2n-2}^2 (4n-3)^2 x^4}{(4n+1)A_{2n}^2 - (\pi/2)^2 (4n-3)x^4} \right]_{k=2}^{+\infty}.$$

(ii) Let x be a real number, a representation of Fresnel sine integral function as a sum of continued fractions is

$$S(x) = \left[\frac{\pi}{6} x^3; \frac{-(\pi/2)^3 x^7}{42}, \frac{(\pi/2)^2 A_{2n-1}^2 (4n-1)^2 x^4}{(4n+3)A_{2n+1}^2 - (\pi/2)^2 (4n-1)x^4} \right]_{k=2}^{+\infty}.$$

In order to prove Theorem 3.1, we give the following lemmas.

Lemma 3.2. [6] Let g be a function with Taylor series expansion in an interval $I \subset \mathbb{R}$ is

$$g(y) = \sum_{k=0}^{+\infty} b_k y^k.$$

Then, the development in continued fractions of $g(y)$ is given by

$$g(y) = \left[b_0; \frac{b_1 y}{1}, \frac{-b_2 y}{b_1 + b_2 y}, \frac{-b_1 b_3}{b_2 + b_3 y}, \frac{-b_{n-2} b_n y}{b_{n-1} + b_n y} \right]_{n=4}^{+\infty}.$$

The following lemma characterizes equivalence of continued fractions.

Lemma 3.3. [5]. Let (r_n) be a non-zero sequence of real numbers. Then, one has

$$\left[a_0; \frac{b_1}{a_1}, \frac{b_2}{a_2}, \dots, \frac{b_n}{a_n}, \dots \right] = \left[a_0; \frac{r_1 b_1}{r_1 a_1}, \frac{r_2 r_1 b_2}{r_2 a_2}, \dots, \frac{r_n r_{n-1} b_n}{r_n a_n}, \dots \right].$$

We recall that the cosine Fresnel integral function is given by

$$C(x) = \sum_{k=0}^{+\infty} \frac{(-1)^k}{4k+1} \left(\frac{\pi}{2}\right)^{2k} \frac{x^{4k+1}}{(2k)!}$$

and

$$S(x) = \sum_{n=0}^{+\infty} \frac{(-1)^n}{4n+3} \left(\frac{\pi}{2}\right)^{2n+1} \frac{x^{4n+3}}{(2n+1)!}$$

Proof. (of theorem 3.1.)

(i) The Fresnel integral function $C(x)$ can be written as

$$C(x) = x \sum_{n=0}^{+\infty} \frac{(-1)^n \left(\frac{\pi}{2}\right)^{2n}}{(2n)!(4n+1)} x^{4n}, \quad b_n = \frac{(-1)^n \left(\frac{\pi}{2}\right)^{2n}}{(2n)!(4n+1)}.$$

Let $y = x^4$, from the last formulae, we deduce

$$b_0 = 1, \quad \frac{b_1 y}{1} = \frac{-\left(\frac{\pi}{2}\right)^2 y}{5 \cdot 2!}, \quad \frac{-b_2 y}{b_1 + b_2 y} = \frac{-\left(\frac{\pi}{2}\right)^4 y}{\frac{9 \cdot 4!}{\left(\frac{\pi}{2}\right)^4 y} + 4!9}.$$

Let $A_n^k = \frac{n!}{(n-k)!}$, for all $k \leq n$. For $n \geq 3$, we get

$$b_{n-2} b_n y = \frac{(-1)^{n-2} \left(\frac{\pi}{2}\right)^{2n-4}}{(2n-4)!(4n-7)} \cdot \frac{(-1)^n \left(\frac{\pi}{2}\right)^{2n}}{(2n)!(4n+1)} y = \frac{\left(\frac{\pi}{2}\right)^{4n-4}}{((2n-4)!)^2 A_{2n}^4 (4n-7)(4n+1)} y.$$

Furthermore, we have

$$\begin{aligned} b_{n-1} + b_n y &= \frac{(-1)^{n-1} \left(\frac{\pi}{2}\right)^{2n-2}}{(2n-2)!(4n-3)} + \frac{(-1)^n \left(\frac{\pi}{2}\right)^{2n}}{(2n)!(4n+1)} y \\ &= \frac{(-1)^{n-1} \left(\frac{\pi}{2}\right)^{2n-2}}{(2n)!(4n+1)(4n-3)} \left(A_{2n}^2 (4n+1) - \left(\frac{\pi}{2}\right)^2 (4n-3) y \right). \end{aligned}$$

Then, we obtain

$$\frac{-b_{n-2} b_n y}{b_{n-1} + b_n y} = \frac{\frac{-\left(\frac{\pi}{2}\right)^{4n-4} y}{((2n-4)!)^2 A_{2n}^4 (4n-7)(4n+1)}}{\frac{(-1)^{n-1} \left(\frac{\pi}{2}\right)^{2n-2}}{(2n)!(4n+1)(4n-3)} \left(A_{2n}^2 (4n+1) - \left(\frac{\pi}{2}\right)^2 (4n-3) y \right)}.$$

Therefore, the continued fraction expansion of $C(x)$ is

$$C(x) = x \left[1; \frac{-\left(\frac{\pi}{2}\right)^2 y}{2!5}, \frac{-\left(\frac{\pi}{2}\right)^4 x^4}{\frac{4!9}{2!5} + \frac{(\pi/2)^4 y}{4!9}}, \frac{-\left(\frac{\pi}{2}\right)^{4n-4} y}{\frac{((2n-4)!)^2 A_{2n}^4 (4n-7)(4n+1)}{(-1)^{n-1} \left(\frac{\pi}{2}\right)^{2n-2}} \left(A_{2n}^2 (4n+1) - \left(\frac{\pi}{2}\right)^2 (4n-3) y \right)} \right]_{n=3}^{+\infty}$$

Let us define the sequence $(r_n)_{n \geq 1}$ by

$$\begin{cases} r_1 = 10, \\ r_n = \frac{(4n-3)(2n)!(4n+1)}{(-1)^{n-1} \left(\frac{\pi}{2}\right)^{2n-2}}, \quad n \geq 2. \end{cases} \quad \text{Then, we found}$$

$$\begin{cases} \frac{r_1 c_1}{r_1 d_1} = \frac{-(\pi/2)^2 y}{10}, \\ \frac{r_n r_{n-1} c_n}{r_n d_n} = \frac{(\pi/2)^2 A_{2n-2}^2 (4n-3)^2 y}{(4n+1)A_{2n}^2 - (\pi/2)^2 (4n-3)y}, \quad n \geq 2. \end{cases}$$

Finally, we obtain

$$C(x) = \left[x; \frac{-(\pi/2)^2 x^5}{10}, \frac{(\pi/2)^2 A_{2n-2}^2 (4n-3)^2 y}{(4n+1)A_{2n}^2 - (\pi/2)^2 (4n-3)y} \right]_{k=2}^{+\infty},$$

which finish the proof of (i).

(ii) We prove it by a similar method of (i). We have

$$S(x) = x^3 \sum_{n=0}^{+\infty} \frac{(-1)^n (\frac{\pi}{2})^{2n+1}}{(2n+1)!(4n+3)} x^{4n}, \quad b'_n = \frac{(-1)^n (\frac{\pi}{2})^{2n+1}}{(2n+1)!(4n+3)}.$$

So, we have

$$b'_0 = \frac{\pi}{6}, \quad \frac{b'_1 y}{1} = \frac{\frac{-(\pi/2)^3 y}{7.3!}}{1}, \quad \frac{-b'_2 y}{b'_1 + b'_2 y} = \frac{\frac{-(\pi/2)^5 y}{11.5!}}{\frac{-(\pi/2)^3}{7.3!} + \frac{(\pi/2)^5 y}{11.5!}} = \frac{\frac{-(\pi/2)^5 y}{11.5!}}{\frac{-(\pi/2)^3}{77.5!} (11A_5^2 - 7(\pi/2)^2 y)}.$$

So, for all $n \geq 3$, we get

$$\frac{-b'_{n-2} b'_n y}{b'_{n-1} + b'_n y} = \frac{\frac{-(\pi/2)^{4n-2} y}{(2n+1)!(2n-3)!(4n-5)(4n+3)}}{\frac{(-1)^{n-1} (\pi/2)^{2n-1}}{(2n+1)!(4n-1)(4n+3)} (A_{2n+1}^2 (4n+3) - (4n-1)(\pi/2)^2 y)}.$$

Therefore, the continued fraction expansion of $S(x)$ becomes

$$S(x) = x^3 \left[\frac{\pi}{6}; \frac{\frac{-(\pi/2)^3}{7.3!} x^4}{1}, \frac{\frac{-(\pi/2)^5 y}{11.5!}}{\frac{-(\pi/2)^3}{77.5!} (11A_5^2 - 7(\pi/2)^2 y)}, \right. \\ \left. \frac{\frac{-(\pi/2)^{4n-2} y}{(2n+1)!(2n-3)!(4n-5)(4n+3)}}{\frac{(-1)^{n-1} (\pi/2)^{2n-1}}{(2n+1)!(4n-1)(4n+3)} (A_{2n+1}^2 (4n+3) - (4n-1)(\pi/2)^2 y)} \right]_{n=3}^{+\infty}$$

In order to simplify the previous expansion of $S(x)$, let

$$r'_1 = 7.3!, \quad r'_n = \frac{(2n+1)!(4n+3)(4n-1)}{(-1)^{n-1} (\pi/2)^{2n-1}}, \quad n \geq 2.$$

By applying the Lemma 3.3, with the following transformations

$$\begin{cases} \frac{r'_1 C'_1}{r'_1 d'_1} = \frac{-(\pi/2)^3 x^4}{7 \cdot 3!}, \\ \frac{r'_n r'_{n-1} c'_n}{r'_n d'_n} = \frac{A_{2n-1}^2 (4n-1)^2 (\pi/2)^2 x^4}{A_{2n+1}^2 (4n+3) - (\pi/2)^2 (4n-1) x^4} \end{cases}$$

we complete the proof of (ii). \square

3.1.2. Matrix case.

Definition 3.4. Let A be a matrix in \mathcal{M}_m , we define the Fresnel integral functions of matrix A by the expressions

$$C(A) = \sum_{k=0}^{+\infty} \frac{(-1)^k}{4k+1} \left(\frac{\pi}{2}\right)^{2k} \frac{A^{4k+1}}{(2k)!}$$

and

$$S(A) = \sum_{n=0}^{+\infty} \frac{(-1)^n}{4n+3} \left(\frac{\pi}{2}\right)^{2n+1} \frac{A^{4n+3}}{(2n+1)!}.$$

Theorem 3.5. Let A be a matrix of M_m such that $\|A\| = \alpha$, where $\alpha \in \mathbb{R}$ and $0 < \alpha < \frac{1}{2}$.

(i) The matrix continued fraction

$$\left[A; \frac{-(\pi/2)^2 A^5}{10I}, \frac{(\pi/2)^2 A_{2n-2}^2 (4n-3)^2 A^4}{(4n+1)A_{2n}^2 I - (\pi/2)^2 (4n-3)A^4} \right]_{n=2}^{+\infty},$$

converge in \mathcal{M}_m . Furthermore, this continued fraction represents the function $C(A)$. So, we have

$$C(A) = \left[A; \frac{-(\pi/2)^2 A^5}{10I}, \frac{(\pi/2)^2 A_{2n-2}^2 (4n-3)^2 A^4}{(4n+1)A_{2n}^2 I - (\pi/2)^2 (4n-3)A^4} \right]_{n=2}^{+\infty}$$

(ii) The matrix continued fraction

$$\left[\frac{\pi}{6} A^3; \frac{-(\pi/2)^3 A^7}{42I}, \frac{(\pi/2)^2 A_{2n-1}^2 (4n-1)^2 A^4}{(4n+3)A_{2n+1}^2 I - (\pi/2)^2 (4n-1)A^4} \right]_{n=2}^{+\infty}.$$

converge in \mathcal{M}_m . Furthermore, this continued fraction represents the function $C(A)$. So, we have

$$S(A) = \left[\frac{\pi}{6} A^3; \frac{-(\pi/2)^3 A^7}{42I}, \frac{(\pi/2)^2 A_{2n-1}^2 (4n-1)^2 A^4}{(4n+3)A_{2n+1}^2 I - (\pi/2)^2 (4n-1)A^4} \right]_{n=2}^{+\infty}.$$

Proof. (i) We keep the same notations as in Theorem 3.5. In order to prove the convergence of the continued fraction $K(C_k/D_k)$ with

$$\begin{cases} C_1 &= -(\pi/2)^2 A^5, \\ D_1 &= 10I, \end{cases}$$

and for $k \geq 2$,

$$\begin{cases} C_k &= (\pi/2)^2 A_{2k-2}^2 (4k-3)^2 A^4, \\ D_k &= (4k+1) A_{2k}^2 I - (\pi/2)^2 (4k-3) A^4. \end{cases}$$

We should verify that the conditions of Theorem 2.3 are satisfied. One has

$$\|C_1 C_2^{-1}\| = \left\| \frac{-(\pi/2)^2}{(\pi/2)^2 A_{25}^2} A^5 A^{-4} \right\| \leq \|A\|,$$

for $k \geq 1$, we obtain

$$\|C_{2k-1} C_{2k}^{-1}\| = \left\| \frac{(\pi/2)^2 A_{4k-3}^2 (8k-7)^2}{(\pi/2)^2 A_{4k-2}^2 (8k-3)^2} A^4 A^{-4} \right\| \leq 1$$

and

$$\begin{aligned} \|D_{2k-1}^{-1}\| &= \|((8k-3)A_{4k-2}^2 I - (\pi/2)^2 (8k-7)A^4)^{-1}\| \\ &= \frac{1}{(8k-3)A_{4k-2}^2} \left\| \left(I - \frac{(\pi/2)^2 (8k-7)}{(8k-3)A_{4k-2}^2} A^4 \right)^{-1} \right\| \\ &\leq \left\| \left(I - \frac{(\pi/2)^2 (8k-7)}{(8k-3)A_{4k-2}^2} A^4 \right)^{-1} \right\|. \end{aligned}$$

Since the factors of the product $(C_{2k-2} \dots C_2)^{-1} D_{2k-1}^{-1} (C_{2k-3} \dots C_1)$ commute between them, so

$$\begin{aligned} \|(C_{2k-2} \dots C_2)^{-1} D_{2k-1}^{-1} (C_{2k-3} \dots C_1)\| &= \|(C_1 C_2^{-1}) \dots (C_{2k-3} C_{2k-2}^{-1}) D_{2k-1}^{-1}\| \\ &\leq \|A \left(I - \frac{(\pi/2)^2 (8k-7)}{(8k-3)A_{4k-2}^2} A^4 \right)^{-1}\|. \end{aligned}$$

According to Proposition 2.4 and the fact that

$$\lim_{k \rightarrow +\infty} \frac{(\pi/2)^2 (8k-7)}{(8k-3)A_{4k-2}^2} \|A^4\| = 0,$$

we obtain for all sufficiently large k

$$\begin{aligned} \|(C_{2k-2} \dots C_2)^{-1} D_{2k-1}^{-1} (C_{2k-3} \dots C_1)\| &\leq \|A\| \left\| \left(I - \frac{(\pi/2)^2 (8k-7)}{(8k-3)A_{4k-2}^2} A^4 \right)^{-1} \right\| \\ &\leq \|A\| \frac{1}{1 - \frac{(\pi/2)^2 (8k-7)}{(8k-3)A_{4k-2}^2} \|A^4\|} \\ &\leq \|A\| \leq \frac{1}{2}. \end{aligned}$$

To prove the second inequality of Theorem 2.3, we have

$$\begin{aligned}
\|(C_{2k-1}\dots C_3)^{-1}D_{2k}^{-1}(C_{2k}\dots C_2)\| &= \|(C_2C_3^{-1})\dots(C_{2k-2}C_{2k-1}^{-1})C_{2k}D_{2k}^{-1}\| \\
&\leq \frac{(\pi/2)^2A_{4k-2}^2(8k-3)^2}{(8k+1)A_{4k}^2}\|A^4(I - \frac{(\pi/2)^2(8k-3)}{(8k+1)A_{4k}^2}A^4)^{-1}\| \\
&\leq \|A^4\|\frac{1}{1 - \frac{(\pi/2)^2(8k-3)}{(8k+1)A_{4k}^2}\|A^4\|} \\
&\leq \|A\|^4 \leq \frac{1}{2}
\end{aligned}$$

which complete the proof of (i). We study the convergence of the continued fraction $K(C'_k/D'_k)$ with

$$\begin{cases} C'_1 &= -(\pi/2)^3A^7, \\ D'_1 &= 42I, \end{cases}$$

and for all $k \geq 2$,

$$\begin{cases} C'_k &= (\pi/2)^2A_{2k-1}^2(4k-1)^2A^4, \\ D'_k &= (4k+3)A_{2k+1}^2I - (\pi/2)^2(4k-1)A^4. \end{cases}$$

We prove (ii) by the same method as below. We have

$$\begin{aligned}
\|(C'_{2k-2}\dots C'_2)^{-1}D'_{2k-1}(C'_{2k-3}\dots C'_1)\| &= \|(C'_1C'_2)^{-1}\dots(C'_{2k-3}C'_{2k-2})^{-1}D'_{2k-1}\| \\
&\leq \frac{1}{(8k-1)A_{4k-1}^2}\|A^3(I - \frac{(\pi/2)^2(8k-5)}{(8k-1)A_{4k-1}^2}A^4)^{-1}\| \\
&\leq \|A^3\|\frac{1}{1 - \frac{(\pi/2)^2(8k-5)}{(8k-1)A_{4k-1}^2}\|A^4\|} \\
&\leq \|A\|^3 \leq \frac{1}{2}.
\end{aligned}$$

We also have

$$\begin{aligned}
\|(C'_{2k-1}\dots C'_3)^{-1}D'_{2k}(C'_{2k}\dots C'_2)\| &= \|(C'_2C'_3)^{-1}\dots(C'_{2k-2}C'_{2k-1})^{-1}C'_{2k}D'_{2k}\| \\
&\leq \frac{(\pi/2)^2A_{4k-1}^2(8k-1)^2}{(8k+3)A_{4k+1}^2}\|A^4(I - \frac{(\pi/2)^2(8k-1)}{(8k+3)A_{4k+1}^2}A^4)^{-1}\| \\
&\leq \|A^4\|\frac{1}{1 - \frac{(\pi/2)^2(8k-1)}{(8k+3)A_{4k+1}^2}\|A^4\|} \\
&\leq \|A\|^4 \leq \frac{1}{2}.
\end{aligned}$$

hence the proof of (ii). \square

4. NUMERICAL APPLICATIONS

In this section, we present some numerical examples of our theoretical results, beginning by real case

Example 4.1.

TABLE 1. The following table clarifies the differences between the Fresnel integral function $C(x)$ and its convergents when Applying the (i) of theorem 3.1.

x	$(C - F_1)(x)$	$(C - F_2)(x)$	$(C - F_3)(x)$	$(C - F_4)(x)$	$(C - F_5)(x)$
0.05	-5.50e-14	1.95e-20	-4.12e-27	5.72e-34	-5.61e-41
0.1	-2.81e-11	1.60e-16	-5.40e-22	1.20e-27	-1.88e-33
0.2	-1.44e-8	1.31e-12	-7.08e-17	2.51e-21	-6.32e-26
0.5	-5.48e-5	1.95e-7	-4.11e-10	5.71e-13	-5.61e-16
0.75	-2.07e-3	3.77e-5	-4.03e-7	2.84e-9	-1.41e-11
1	-2.66e-2	1.55e-3	-5.28e-5	1.18e-6	-1.86e-8

Example 4.2.

TABLE 2. The following table clarifies the differences between the Fresnel integral function $S(x)$ and its convergents when applying the (ii) of theorem .1.

x	$(S - F_1)(x)$	$(S - F_2)(x)$	$(S - F_3)(x)$	$(S - F_4)(x)$	$(S - F_5)(x)$
0.05	-3.53e-17	9.52e-24	-1.61e-30	1.86e-37	-1.57e-44
0.1	-7.24e-14	3.12e-19	-8.44e-25	1.56e-30	-2.10e-36
0.2	-1.48e-10	1.02e-14	-4.42e-19	1.31e-23	-2.82e-28
0.5	-3.52e-6	9.50e-9	-1.60e-11	1.86e-14	-1.56e-17
0.75	-3.01e-4	4.13e-6	-3.54e-8	2.08e-10	-8.89e-13
1	-6.94e-3	3.03e-4	-8.28e-6	1.54e-7	-2.08e-9

Now we pass to the matrix case, we illustrate the theoretical results obtained in the theorem 3.5, we start with an example of the matrix function $C(A)$

Example 4.3. let A be an 3×3 matrix such that

$$A = \begin{pmatrix} \frac{1}{4} & \frac{1}{16} & \frac{1}{8} \\ \frac{1}{16} & \frac{1}{4} & \frac{1}{16} \\ \frac{1}{8} & \frac{1}{16} & \frac{1}{4} \end{pmatrix}$$

The norm of A is $\|A\| = 0.4375$, it is of course strictly less than $1/2$. By applying the theoretical results obtained in the theorems 3.4 the difference

between the fresnel integral function of matrix $C(A)$ and $S(A)$ and its convergents respectively is given by

$$(F_1 - C)(A) = \begin{pmatrix} -4.58e-6 & -3.35e-6 & -4.58e-6 \\ -3.35e-6 & -2.47e-6 & -3.35e-6 \\ -4.58e-6 & -3.35e-6 & -4.58e-6 \end{pmatrix},$$

$$(F_2 - C)(A) = \begin{pmatrix} 8.18e-9 & 5.99e-9 & 8.18e-9 \\ 5.99e-9 & 4.38e-9 & 5.99e-9 \\ 8.18e-9 & 5.99e-9 & 8.18e-9 \end{pmatrix},$$

$$(F_3 - C)(A) = \begin{pmatrix} -8.65e-12 & -6.33e-12 & -8.65e-12 \\ -6.33e-12 & -4.63e-12 & -6.33e-12 \\ -8.65e-12 & -6.33e-12 & -8.65e-12 \end{pmatrix},$$

$$(F_4 - C)(A) = \begin{pmatrix} 6.01e-15 & 4.40e-15 & 6.01e-15 \\ 4.40e-15 & 3.22e-15 & 4.40e-15 \\ 6.01e-15 & 4.40e-15 & 6.01e-15 \end{pmatrix},$$

$$(F_5 - C)(A) = \begin{pmatrix} -2.96e-18 & -2.16e-18 & -2.96e-18 \\ -2.16e-18 & -1.58e-18 & -2.16e-18 \\ -2.96e-18 & -2.16e-18 & -2.96e-18 \end{pmatrix}.$$

$$(F_1 - S)(A) = \begin{pmatrix} -2.08e-7 & -1.52e-7 & -2.08e-7 \\ -1.52e-7 & -1.12e-7 & -1.52e-7 \\ -2.08e-7 & -1.52e-7 & -2.08e-7 \end{pmatrix},$$

$$(F_2 - S)(A) = \begin{pmatrix} 2.81e-10 & 2.06e-10 & 2.81e-10 \\ 2.06e-10 & 1.51e-10 & 2.06e-10 \\ 2.81e-10 & 2.06e-10 & 2.81e-10 \end{pmatrix},$$

$$(F_3 - S)(A) = \begin{pmatrix} -2.39e-13 & -1.75e-13 & -2.39e-13 \\ -1.75e-13 & -1.28e-13 & -1.75e-13 \\ -2.39e-13 & -1.75e-13 & -2.39e-13 \end{pmatrix},$$

$$(F_4 - S)(A) = \begin{pmatrix} 1.38e-16 & 1.01e-16 & 1.38e-16 \\ 1.01e-16 & 7.44e-17 & 1.01e-16 \\ 1.38e-16 & 1.01e-16 & 1.38e-16 \end{pmatrix},$$

$$(F_5 - S)(A) = \begin{pmatrix} -5.86e-20 & -4.29e-20 & -5.86e-20 \\ -4.29e-20 & -3.14e-20 & -4.29e-20 \\ -5.86e-20 & -4.29e-20 & -5.86e-20 \end{pmatrix}.$$

The results established above show that the continued fraction algorithm converges very quickly. Indeed for the integral cosine $C(A)$ we gained 5 places since the first iteration and so on. This shows the importance of this approach.

REFERENCES

- [1] S. Albeverio and S. Mazzucchi, "Generalized Fresnel integrals." *Bulletin des Sciences Mathématiques*. Vol. 129, No. 1, 2005, pp. 1-23. Accessed May 24, 2020. <http://www.sciencedirect.com/science/article/pii/S0007449704000776>
- [2] A. Cuyt, V.B. Petersen, *Handbook of continued fractions for special functions*, Springer (2007).
- [3] F. R. Gantmacher, *The Theory of Matrices*, Vol. I. Chelsea, New York, 1959. Elsevier Science Publishers, (1992).

- [4] G. H. Golub and C. F. Van Loan, *Matrix Computations*, University Press, Baltimore, MD, USA, third edition (1996).
- [5] T. L. Hayden, *Continued fractions in Banach spaces*, Rocky Mtn. J.Math., 4 (1974), 367-369.
- [6] W. B. Jons and W. J. Thron, *Continued Fractions, Analytic Theory and Applications*, Addison-Westly Publishing Company, 5 (1980).
- [7] A. N. Khovanski, *The applications of continued fractions and their Generalisation to problems in approximation theory*, Noordhoff, Groningen, The Netherlands, (1963).
- [8] L. Lorentzen, H. Waadeland, *Continued fractions with applications*, Elsevier Science Publishers, (1992).
- [9] G. J. Murphy, *C*-Algebras and operators theory*, Academic press, INC Harcourt Brace Jovanovich, publishers (1990).
- [10] M. Raïssouli, A. Kacha, *Convergence for matrix continued fractions*, Linear Algebra Appl., 320 (2000), 115-129.
- [11] N. Negoescu, *Convergence theorems on noncommutative continued fractions*, Rev. Anal. Numér. Theorie Approx., 5 (1977), 165-180.
- [12] M. Sandoval-Hernandez, H. Vazquez-Leal, L. Hernandez-Martinez, U. A. Felobello-Nino, V. M. Jimenez-Fernandez, A. L. Herrera-May, R. Castaneda-Sheissa, R. C. Ambrosio-Lazaro and G. Diaz-Arango. Approximations of Fresnel Integrals with applications to Diffraction Problems. Mathematical Problems in Engineering. Volume 2018. 1-31. Article ID 4031793. [://doi/10.1155/2018/4031793](https://doi.org/10.1155/2018/4031793)
- [13] H. Zhao, G. Zhu, *Matrix-valued continued fractions*, Journal of Approximation Theory 120 (2003) 136-152.

IBN TOUFAL UNIVERSITY, LABORATORY EDPAGS, KENITRA 14000, MOROCCO
Email address: sarra.ahallal@uit.ac.ma

IBN TOUFAL UNIVERSITY, LABORATORY EDPAGS, KENITRA 14000, MOROCCO
Email address: ali.kacha@uit.ac.ma

IBN TOUFAL UNIVERSITY, LABORATORY EDPAGS, KENITRA 14000, MOROCCO
Email address: saidmennou@yahoo.fr